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75 £ £ HT 229 431 212 219
it )11 3w BT 47 104 49 55
L LR HT 115 239 96 143
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RIS HT 3,647 7,921 3,683 4238
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= &M 648 1,308 609 699
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KEEBtTH 159 315 140 175
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78 K 3 < HT 74 133 58 75
PR F AT 233 405 172 233
ARFERET—TH 882 1,700 764 936
AAFEREIZTH 321 683 306 377
BAFIET—TH 269 571 277 294
AAFIRI=TH 120 310 154 156
BAFIE=TH 162 251 125 126
FARXFIETETH 179 365 163 202
FARXFZH—TH 308 617 283 334
BAFSHZ=TH 267 570 279 291
AXFHFHE—TH 206 431 210 221
AAFHEMHEIZTH 132 272 127 145
AAXFEEFH—TH 160 362 180 182
ARXFEIEI=TH 15 17 11 6
BAXFHFEHE—TH 278 493 231 262
BAAXFHFEHEZTH 215 469 226 243
=X—TH 316 700 335 365
FE_-TH 296 633 323 310
EE=TH 239 514 245 269
TXMETH 227 496 221 275




& AtHEHEVAO TRo6E2 B 1 HEE

BT £ HF 8| A A Es =3
=RATH 27 52 28 24
EM—TH 398 883 410 473
EW=TH 312 741 332 409
EM=TH 278 634 292 342
EMMTHE 244 641 312 329
EMARTH 318 804 381 423
(o8t X] 4,097 9,493 4,416 5,077
HOOHME—TH 438 941 407 534
HOHME_TH 382 807 371 436
HOOHME=TH 386 852 415 437
HOHMEET B 259 580 258 322
HOOHMEATH 312 711 333 378
HPeHMEESRTH 643 1,456 666 790
HOOHMELETH 365 977 468 509
HPeHitE/\TH 203 540 254 286
HroHimit—TH 413 1,007 482 525
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